m= 200 3 O/’l\&l
T\,: l’)oo/c :O,’g
N: 3,66 ¢ BAm=

- 360 Bm

y -

2‘?60090@”, = %

2660

\(D’k& = 1Bm.c

OmBem A 12,6 Lk

-\OGDLL&

SYa

Fs

> 0, 6,'1-\0ng =

= 4,%6 -|OGDQ«(, =




Ny
@C\MO:

Ww=10h
:]NOM R "_)&p

Pewutarue -
Q:Q‘FR'L
a4 v . ueb
—Q-)Q:“T: ER. ikl ﬂ'f
Q‘chthcaM
u U
o B o B poB
Q_; R‘j = leuq :1’5-0’“
\
Ro=Rek,, v- M o
¢ 2 ) - Q{*Q,_ ) 1'5—0'1": "f(oa’“



7_4 /;47 ﬁo% Arurg. 74 '

Afhee Pa@leﬂue |
| Q=9-m

At > -
_ D N
9= - Kt Rk 4
Ay 7om 27 74/77:45-‘//-/05-0/»&
56‘50 =25 P 7(/
J@{W(VW
&
%[7; ‘L, /'gg 5’/%5 5725
+=t, 1+
Py o
=7 .7,
‘f]: ’%——7 %
45/12 S' Z ///
= 2T o 2 5/’5"‘34)
”ef; 4 ! — & - 5 o
Rl L
5t%) 474 wx o

w‘z :; P & ] \ Nt : C=
c /C

%M/% (N e

aMp '

oo |yt o GehebtIF 5

7 :/57} nfu Vl/af JP;—/I L ¢ ' %J‘f
y ;’574( 0 ‘,é,f?u

oo 6 f

7
=




